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Example Candidate Responses — Paper 2: Geographical Skills

Il

Introduction
| £Edu

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGESE-Geography.
(0460), and to show how different levels of candidates’ performance (high, middle and low) relate to the
subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen to exemplify a range of answers for Paper 2:
Geographical Skills. Each response is accompanied by a brief commentary explaining the strengths and
weaknesses of the answers.

For ease of reference the following format for each component has been adopted:

e B
Mark scheme
" J
e B
Example candidate

response

. J

a 3
Examiner
comment

o _J

Each question is followed by an extract of the mark scheme used by examiners. This, in turn, is followed by
examples of marked candidate responses, each with an examiner comment on performance. Comments are
given to indicate where and why marks were awarded, and how additional marks could have been obtained.
In this way, it is possible to understand what candidates have done to gain their marks and what they still
have to do to improve their marks.

This document illustrates the standard of candidate work for those parts of the assessment which help
teachers assess what is required to achieve marks beyond what should be clear from the mark scheme.
Some question types where the answer is clear from the mark scheme, such as short answers and multiple
choice, have therefore been omitted.

Past papers, Examiner Reports and other teacher support materials are available on Teacher Support at
https://teachers.cie.org.uk

4 Cambridge IGCSE® Geography 0460


https://teachers.cie.org.uk/

Example Candidate Responses — Paper 2: Geographical Skills

Assessment at a glance 'y TR

All candidates take three components. All candidates take Paper 1 and Paper 2, and either Component 3 or
Paper 4.

lu

All candidates take: and:

Paper 1 1 hour 45 minutes | Paper 2 1 hour 30 minutes
Geographical Themes 45% Geographical Skills 27.5%

75 marks, weighted to 100 marks 60 marks

Candidates answer three questions, each worth 25 | Candidates answer all the questions
marks. Candidates must answer one question from | Externally assessed
each section.

Externally assessed

All candidates take either: or:

Component 3 Paper 4 1 hour 30 minutes
Coursework 27.5% Alternative to Coursework 27.5%

60 marks 60 marks

Teachers set one Centre-based assignment of up Candidates answer two compulsory questions,

to 200 words completing a series of written tasks

Centre-based assessment* Externally assessed

*Centre-based assessments require the written approval of Cambridge. This will only be given to teachers
who satisfy Cambridge requirements concerning moderation. Cambridge offers schools in-service training
courses which are held in Cambridge and elsewhere.

Cambridge IGCSE® Geography 0460 5



Example Candidate Responses — Paper 2: Geographical Skills

Paper 2: Geographical Skills

Question 1

Mark scheme G2 Www. mye

1 (a) (I} wide tamred, [1]
(i} dense bushivery dense bushidam, [1]
(iif) i vank. [1]
{iv) trackicut lineigame trail, [1]
{v) (seasonal) marsh, (1]

Mark the first type of land use given.

(b} (i} gently sloping, (mora than ona tick = 0} [1]
(I} damfurows/reservorsirivers/streamsaiwatercourse, (high drainage density = 0) [1]
{iii} power line/33kY, {power supply = 0} 1]

(ivl stall quarershuls'buildingsWalback Township/Mazos Township, (houses, village = 0)
[1]

(v} tamed road(s). (large mad = 0) [1]
() () 724673, (1
i} SE, [1]
{ill) 213°, (more than one tick = 0) [1]
(d)
Type of land
Steap slopes | Gentle slopas | Meot to rivera
Land use | Cultwation v
Saeasonal marsh v
Danse bush ¥
Mora than ona lick per row = 0 [3]

(&) flows NEMNNEN,
streamisysmall riversismall watercoursais), (smallar rivers = 0)
tributary/confluencefributaries/confluancesiaffluents, (splits into tributaries = Q)
mizandarsbends atc,,
dandritic pattern,
damis), (resarvair, lake = )
tributarias join at acule angles,
high drainage density/many streams/many meers/many tributaries, (many tributares = 2}
gentle gradientflows on gentla land {must be relaming o rivers),
wider downstreamwider in NE/NNEN, [4]

6 Cambridge IGCSE® Geography 0460



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high

1 Shedy the map @idracl which is for Greal Riversdale Estates, Zimbabwe. The scals is
1:50000.

(a) Fig. 1 shows some of the features in the north east part of the map exdract. Study Fig. 1
and the map extract, and answer i questions below.

&2 B3 B4 85 Ba ar

74 74
f .

\ -

-

\ ' I::'----...__,h""“-~—-.

a3 84 85 86 ar

Fig. 1
Using the map extract, idenity the following lealures shown on Fig,. 1:
(i) the type of road at A;
A == s = W PRy eV —
(i) the land vse in area B;

e AP eSS LS OerDeE ousn. 1)

() teatwre C;
Dig. ok 1
(iv) lealures D;
e TERCk, Gt line. CL.Qeme AT, m
(v) the iype of land in area E.
—oeocenel. Moursn. n

Cambridge IGCSE® Geography 0460 7
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high, continued

(b} Study the area of orchard or plantation, shown by rows of small green squares, In the
south assl cormes of the map extract,

() Which one-of the following siatements describes the relief of this area? Tiok (/)
one coméat answar in Table 1 balow.

Tabile 1
Statement Tiek ()
steaply sioping
a ridge iV
gendly sloping : == |
a spur

[

(i) ‘What is tha map evidence of water supplies for the archard or plantation?

TThere 3.0 A0 Dore. HNas (5. ConnecTen T,

Qg eead Teatommd osh. Ccseethe. )
{ili) What is the map evidence of power supplies to the orchard or plantation?

B penec ioe. of. B3 XM Clutan HnC hma-

the Crolosyn) o alas mibuie oW i
(V) Whal map evidence ahows that housing is available for worksra?

A group ek hus ckeeTa. e emen. fock

AL QO AP Cs TOOeTne T . )

{v) How can the crops be transported away from the onchard or plantation? State the
AP Bviencs, - '

o Roads. (Linie darea) poes Hhougn.. .
fre orcinon, ) plenTeudon (1]

8 Cambridge IGCSE® Geography 0460




Example Candidate Responses — Paper 2: Geographical Skills

Yy

Example candidate response — high, continued

{e) Find the poini where the narrow tamed read crosses fhe rallway In Jumbo Reserve.
(i) State the six figure grid referance of this point.

e Y, ST i
(i) State the direction from the point in (c)i) 1o Foyle Estate (5165). 2 www.myeducite.con
< Tan oW a = n = PO )]

(i) Measure the compass bearing from the point in (2)T) 1o whare the railway mesis
the southemn edge of the map. Tick one comect answer in Table 2 bolow,

Table 2

Angwar Tick (/)

3
205*
213 ‘(
220

(d) The following table gives information aboyt land use in the area of the map eximct,
Complets Tabla 3 below by adding one tick for sach row.

Table 3
Type of land
shoep slopes | gentie slopes | next fo rivers
cultvaon v’
Landuse | seasonal marsh v
dense bush v

Cambridge IGCSE® Geography 0460 9



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high, continued

() Fig. 2 shows an area in the north wesl of the map exiracl.

'.M.H 73 74 76 ] 7 Tﬂ_‘u
/

" . ( ™
4

T2 \_% T2

\ | ﬁ {
7 S ﬂ'&‘ﬁé \ -
ara
70 ] /\4 / | r)/ . 70
&9 | / - g9
72 73 74 75 76 77 78
Fig. 2
Describe the drainage of this area.

m.mﬁﬁﬁaﬂﬁ;_mnm{u}mw._..ﬁ.ﬁ._.
Qe The. fouoiunse: onoLEne. INEasousa ™. ...
He thoureries from these rivers o Form....
fLmeer o0 o ot Contines Bre. nerth.......
TReSe. vives LOsS. thiugh o Close 10 0 the. ooy or....
Qrefn.londl ren, CnA.olse. Enlugn. Redicuway foum

&Hmﬁunmhqu%.m:

Soreon afen on0. flaw 0. oreSource. Thaur wasdde)

[Totat: 20 marks]

Examiner comment — high

In parts (a) and (b), the candidate demonstrates a high level of proficiency in identifying features on the map
and using the key to identify them. The only incorrect answer is in part (b)(i) where the candidate refers to a
ridge rather than gentle slopes. In part (c), the grid reference, compass direction and bearing are all correct.
In part (d), the candidate scores one mark out of three, not recognising that the gentle slopes are cultivated
and that the seasonal marsh is next to rivers. In part (e), the candidate scores two marks out of the four
available for describing the drainage. These are for identifying tributaries and the flow towards the north.
There is a slight possibility that the candidate may think that the tributaries leave the rivers rather than join
them but the candidate has been given the benefit of the doubt and the mark has been awarded.

Mark awarded = 15 out of 20

10 Cambridge IGCSE® Geography 0460



Example Candidate Responses — Paper 2: Geographical Skills

Yy

Example candidate response — middle
1 Study the map extract which Is for Great Riversdale Estates, Zimbabwe, The scale is
1:50000.

{a) Fig. 1 shows soms of the features in the north east part of the map extract. Study Fig. 1
and tho map axtract, and answar the questions below,

g2 83 a4 as 86 a7 WWW.MyE IZL.i"i',{ on
74

74 -
/ n
] T3

A
\(/.f a
72 T2
7 \ 3 n
Df"._--"""q.___
E Q:_‘ N -
70 I~ L. T0

82 83 B4 85 R &7

Noiid

Fig.1
Using the map exiract, identily the lollowing lealures shown on Fig. 1
(i) the type of road at A;

Roascl , ¢Iide Torrcal -

() the land use in area B;

Very Ge-ge Bupth , Dee-se Bucl i
(iii) teaturs C;
=
Dr:!: 1=k o
{iv) features O;
ok , Cut Lime on (3me rad s

(v) the type of land in area E.
Sease-al MMars- . .

Cambridge IGCSE® Geography 0460 11



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle, continued

{b) Study the area of orchard or plantation, shown by rows.of small green squares, in the
eouth eastcomer of the map extract.

() Which one of the following statements describes the relisf of this area? Tick ()
ono comoct answer in Tabla 1 below,

Table 1
Staternent Tick (v],
steeply sloping '
a ridge
genlly sloping o
a spur
_ [
(H) What ks the map svidencs of waler supplies for the orchard or planiaton?
There u 0 Da on be crohard or
Pla~tabe= DJrea: 1)
f
(1) Whai is the map evidence of power supplies 1o the orchard or plantation?
& povstrbue-e + 33BY U 25 v OAoC
Aeea . (1

(iv) What map evidence shows that housing is available for workers?
Tere Sre ot I budt ~op dvegst.

(M

{v) How can tha erops ba transported away fram the archard o plantation? State the
map evidanca,

T Sre Boad  cSigle Taesd gl anoudr
h—--nw-ql- et b—q.q oo lba bﬁ-apbbb!d. (1

12 Cambridge IGCSE® Geography 0460




Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle, continued

{e) Find the point where the namow tared road crosses the raliway in Jumbo Resarve,

(i) Swate the six figure grid reference of this point.
EaGEmR  Govnh §i1c779

i

("

m' State the direction from the point in (e){i) 1o Foyle Estata (8165).
B ., 5c

m

(i) Measure the compass bearing from the paint in (¢)(T) 1o where the rilway mests
thi southam edge of the map. Tick ene cormect answer n Table 2 bebow.

Tablo 2

Answer Tiek (#)
33 e
208"
23 ¥ ("
220°

[1

{d) The foliowing table gives Information about land use in the ares of the map extract
Complete Tabbs 3 bolow by adoing one tiok for amoh row.

Table 3
Type of land
stoop slopes | gentle slopes | next 1o rivers
cudtivation (vl
Land usa | saasonal marsh ' . v’
| dense busn ~

Cambridge IGCSE® Geography 0460 13



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle, continued

(&) Fig. 2 shows an area in the north west of the map extract,

T2 73 T4 5 76 (il 8

Eed 74
' /

n
1

IENEE4N
f/v .

R-'\d’\"”
y

J

72 3 T4 5 ] I m

8
2

Fig. 2
Daseribe tha drainage of this area_

because nearey bBoe Qrea begra U culbveve
bl ot Qo) 1 U Surrieedes . MSe D-ee oee

LbuShel Uke  emechun desse avdl wery decre

bosker Xop eohick Dve AUO meqe Ly D
-

tuld vare- —Vrea , So d‘r;llh_nﬂ:, -F thop Sres

TR 4]

[Total: 20 marks]

Examiner comment — middle

Like the high level candidate, this candidate is good at finding features and identifying them and scores full
marks on parts (a) and (b). However, fewer marks are scored on the more demanding later sections. In part
(c), the bearing is correct but the grid reference and compass direction are not. In part (d), the seasonal
marsh is correctly identified as being next to rivers. The answer to part (e) is irrelevant as the candidate
refers to cultivation and vegetation but not to drainage.

Mark awarded = 12 out of 20
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low

1 Study the map exiract which is for Great Riversdale Esfales, Zimbabwe, The scale Is

1:50000.

(a) Fig. 1 shows some of the features in the north east part of the map extract, Sludy Fig. 1

and the map extract, and answer the quastions balow.
&2 83 84 a5 6 a7

74
/ :
73

74

—: 73
. )
Y .;
T2 - 72
T \ ril
e =
E ‘\:.:__'_- e
70 - - : 70
B2 &3 B4 as 88 ar

Fig.1

Using the map extract, identily the lollowing leatures shown on Fig. 1:

" "Doundom Godushu) qubdivgn:

aemare [1]

(@) the land use in area B;

I

Srosfecknd rench

" Vie huak

i1

“Qome tm)
i @énﬂ lﬂ]lﬁr sh

[

Cambridge IGCSE® Geography 0460
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low, continued

{b) Siudy the srea ol orchard or planiation, shown by rows of small green squares, In the
south sas! cormar of the map exiraot.

(i) Which ane of the following statements dascribes the relisl of this area? Tick (/)
one cormect answer in Table 1 below.

Table 1
Statemen Tick (+)
steeply sloping
a ridge
gently skoping et
& spur

(1
mdwuﬂuhhmmww
m;w&wLw ke Pk liney nigamg
w_& Eﬂg% Mﬁjﬂt lﬂfKMI area. [1)

hhmmmmr w.:nrphruﬂun?

ﬂn’llﬁl‘n‘\&lﬁﬂﬁm e 0Hids qun, 4. Pouec e
s M!J.SLM chsho e edldente . m

() What mm:hmu

Neci T Tevon Gl Aowe ave Skaft heod g

i
{v) How can the crops be transported awsy from the orchard or plantation? State the

L d b, wef
! -

:m;_.

i

16 Cambridge IGCSE® Geography 0460




Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low, continued

{e} Find the point whese the narow tamed road crossas the rallway in Jumbo Resarve.
() State the slx figure grid reference of this point.

439468 1

(i) State the direction from tha point in {e)(l) to Foyle Estate (B165).
,Smfam'r Ul

(i) Measua the compass bearing from the point in (e)i) to where the rallway masts
the southern edgo-of the map. Tick one carmect answer in Table 2 below.

 Table2
Answer Tick ()

ko

205°

213 v

220°

m

(d) The foliowing tabls gives information aboul land use in the area of the map extract.
Complate Table 3 below by adding one tick for sach row.

Table 3
Typa of land
stoop sibpes | gentle slopes | next to rivers
cuMtivation [l
Land usa seasonal marsh L 2
dense bush w

Cambridge IGCSE® Geography 0460
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low, continued

(e} Fig. 2 shows an ara in the north west of the map axiréct.

T2 Ta 74 75 - T e

74 74
/

(

1/
V, /

7a

T2

-] T f 5]
T2 73 T4 T8 7 77 78
Fig. 2
D l'be the drainage of (his area. kA
1S 06tp, W m&& eulhakd aad gurnded b

Plfi’é ines:. (e thlu‘}a
oo, 'I&ai M 081 mgh@w ints hog. ﬁreu
. tnouph oM it

Wed o uwﬂu VoY

A, m J
&n_ﬂﬂﬂﬁ m ......... m&b'ﬁ_t r _Q_’ﬁ!ffl

........

[Totat: 20 marks)

Examiner comment — low

The candidate does not always use the map key correctly and makes simple errors as in parts (a)(i) and
(ii). In part (c), the correct compass bearing is given but not the compass direction and grid reference. The
description of drainage in part (e) is almost completely irrelevant. The reference to pipelines is confused as
there are none within the area shown on Fig. 2.

Mark awarded =9 out of 20

18 Cambridge IGCSE® Geography 0460



Example Candidate Responses — Paper 2: Geographical Skills

Question 2

Mark scheme

2 (a) (i} farming,
forestry,
fizhimg,
mining.

quarrying,

axtraction/production of raw matarals = 0 [1]

[ii} any manufacturing or processing industny,
Tactory” or ‘'manufacturing’ or “procaessing’ alona = 0 [1]

(iif} any service or distributive industry including quatemary industries,
‘services' alone =0
refailing/selling/shopa/office work = 1
Allow answers axpressed as occupations, a.q. teacher
If more than one given and ong is wrong credit the first example given, [1]
[{b) Two comect lines plotted (63 mm, 17 mm and 26 mm spaces) = 2,
Cormect use of key = 1
Allow in any order. Mark independantly. [3]
(e} position of Malaysia: from the start of the 28" square 1o the end of the 31 squars from the left,
position of Australia: from the start of the 447 square to the end of the 47" square from the left,

4 square tolerance for each.

Must be shown by a vartical arrow or line with a label. [f lines or arrows do not have country
names max 1. [2]

Cambridge IGCSE® Geography 0460 19



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high

2 Table 4 gives information about employment in three coundries.

Table 4
- Porcontage of amployment
primary industry | secondary indusiry | lerfiary industry

Australia 4 21 75

Malaysia 3 a8 51

Dangladesh &3 1 28

() State one example of a:

() prmary industry; . $aming assth
(i) sacondary industry; ...eanw:ackvel a5 s [1]
(W) tertiary industry .....mdumm —Ll

(b) Use information from Table 4 to complets Fig, 3 balow. Use the key provided. 9]

e EETEREEITEITE e
gd:.dt: a:t Australia
EE S :i:ﬁ ::::tixp:.::: "““‘
SECE S i Hifie g}] Boncesn
0 5 100

20 Cambridge IGCSE® Geography 0460



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high, continued

(¢} As a counlry becomes more economically developed over time, thnu'mhgmnm
struciure changes. Fig. 4 shows how thia rmight ooour. -1'" ;uﬂ"

mm- . P“\f {‘:NM

N

s

| A==t
o

% of armploy mant
=]
T
{
823013
1
1

L
i NG B2 8
Fig. 4 % S
Using ‘information from Table 4, plof Australia (an MEDC) and Malaysia on Fig. 4.
Bangladesh (an LEDC) has already been done for you.
2

[Total: & marks]

Examiner comment — high

The candidate is aware of the difference between primary, secondary and tertiary industries butloses a
mark because “manufacturing” alone was not considered sufficient for an example of secondary industry. In
part (b), the graph is plotted accurately. In part (c), the candidate understands how to answer the question
based on the unfamiliar diagram. The plotting of Australia is accurate but that of Malaysia is outside the
tolerance used by examiners.

Mark awarded = 6 out of 8

Cambridge IGCSE® Geography 0460 21



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle

2 Table 4 gives information about employment In thres countries.

Table 4 : EETEEEESETS

Percaniaps of amploymant
primary industry | secondary industry | tertiary industry

Malaysia 13 4 81

(a) Siale one example of a:
) mim_._.g;mﬁ.ﬁ& in
{ii) secondary industry: En}:\n&i I
(i) tersiary industry .. 2OCAET (1
{b) Use information from Table 415 complete Fig. 3 below. Use the key. provided. ]

:i:i:#:ﬂ:ﬂ:ﬂ. :ii:::H:E Aiatailli

Op
8t
g

22 Cambridge IGCSE® Geography 0460



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle, continued

{e) As a country bacomes more economically deweloped ower fime, She employmant
structiure changes. Fig, 4 shows how (his mighl oocur,

i ——— . T

Bangladesh Moluin  Aydealia
100 ¥

P A
§ w0 = i
‘B "ﬁ‘-'lr ::#F
® 204 et T

' ~H =H

c | 11 :JI. . H
time
Fig. 4

Using Information from Table 4, plol Australia (an MEDC) and Malaysia on Fig. 4,
Bangladesh (an LEDC) has aiready booan dono for you. ’
i 2]

(Totak & marks)

Examiner comment — middle
In part (a), the examples of primary and tertiary industry are correct but not the example of secondary
industry. The candidate has plotted one line on the divided bar graph correctly and used the correct key but

the second line (on the right) is incorrect. In part (c) the plotting of Australia is correct but the plotting of
Malaysia is outside the tolerance.

Mark awarded = 5 out of 8

Cambridge IGCSE® Geography 0460 23



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low

2 Table 4 ghves information about employment in three counlries.

Table 4
Percentage of employment
Country
primary indusiry | secondary induslry |  tertiary indusiry
Australla 4 gl 75
Malaysia 18 38 1]
Bangladesh 63 1 28

) peimary indusiry; L}}:‘; e L Emm_fad-.ﬂ‘&. N

(i) mm.ma .Cmp-:j )]
(ilf) tertiary industry TE‘MD“ [1]

(b) Uss information from Table 4 to complete Fig. 3 balow. Use the key provided. 13

i B TEFEREY puseate

_Hl
:
e
3
et

R AR saovncr
0 ‘u'i!b“ 100

Key :
[=] primary {7 seconcary [+ ]rertary

Fig. 3

24 Cambridge IGCSE® Geography 0460




Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low, continued

{c) As a counlry becomes mone economically developed ower time, the employment
structure changes. Fig. 4 ahows how this might oocur.

Bangladesh '-'m&LfL::P"-ﬂ Mufermiio. .

100
B0
- t -
B0 e
m"_ - -
. -l e
# 20 3 r;#'- : 1'E:||1 ':;'-
_:#‘F llﬁ-ﬁ:w
GH‘ SR H [.: S T
timo -
Fig. 4

Using . information from Table 4, plol Australia {ah MEDC) and Maleysia on Fig. 4.
Bangladesh (an LEDC) has already been done for you,
- 2

[Totak: 8 marks)

Examiner comment — low

The candidate has been awarded a mark for part (a)(i), with the assumption that the answer is intended to
mean the extraction of limestone. The answer to part (a)(ii) is ambiguous; it could mean production, or
processing, or selling of coffee. Part (a)(iii) is answered correctly. Neither of the two lines plotted on the
divided bar graph are correct but one mark has been awarded for use of the correct key. In part (c), the
candidate has not been able to plot points accurately on the unfamiliar diagram.

Mark awarded = 3 out of 8

Cambridge IGCSE® Geography 0460 25



Example Candidate Responses — Paper 2: Geographical Skills

Question 3

Mark scheme

3 (a) Increase (overall or at tha baginning),
more rapidirapid/exponentialincraasing rate at end,
tallow a variety of expressions)

Answers such as ‘gentle increase al first then a rapid increase” = 2.

References simply to the skope of the graph = 0. [2]
(b) {i) Japan,
Indonesia. 2]

fii} pressure on finances,
pressure on/need for more social senvices/carahealth services,
pressure on pension funds,
smaller economically active populaticninot enough workers/military,

less tax raised.
greater dependency ratio alona =0 [1]
(e} (i) correct position of USA shown by a dot or a cross, (no labal neadad) [1]

i} negativeinverse relationship,
one increases as the other decreases etc., €.0. ‘as one gets higher the other gets lower’
{should not just describe a single peint on the graph). [11

(lil} birth rata/use of contracaption,
mikgration, (howeavar axprassed)
daath ratadnfant mortality,
natural increase/decrease,

Mark the best factor given. [1]

26 Cambridge IGCSE® Geography 0460



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high

3 (a) Fig. 5 shows how the iotal population of the world has changed.

world population (millons)
sE888LE

Fig.5
Describe the chanpes shown by Fig. 5. miion
A0.IE00 k. prpi o0, LS. alhedt HOQ buc as .

() Fig. 8 (opposiis) shows the perceniage of the population over the age of 80 in six |
countries with large populaions.

(i} Which country shown on Fig. 8:

had the largest percantage of over-80s In 2008; - JOCN,

will hawe the greatest increase in parcentage of over-80s? .CIDOL. . 2]
U] mhﬁmhwwﬂummﬁuwmhmw

ThR. QRS mINe.Or. LOMUACL Q. e Ut .

Onps_ressing, Cowe Forsuch .o o ]
muu.b‘u—.n%ﬂaju.ﬂ Sufper. e
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high, continued
Parcantage of the population over the age of 60

i ——— . T

(e} Fig. 7 shows the current pepulation growih rate and Mo expectancy of the same countries.
fa

2
growt

rate

m:. — 401
1 [
Jabsnct

o] 20 40 &0 B0 100
Fig.7

1
(i) Descrics ihe relationship, shown on Hu?.mhmudmhm:
,&zmmj_.m‘ (1]
() Staste one other lackor, apart from lile expsctancy, which afiects populstion growth s,

I IR s i i R [
[Total: 8 marks]

() USA has & lile epactancy of 78 and & population growth rate of 1%. Plot this
information on Fig. 7.

Examiner comment — high

In part (a), the candidate has noted the rapid increase in world population but has failed to score the second
mark for recognising the initial slower increase. In part (b)(i), the candidate correctly notes that Japan

had the largest percentage of over-60s in 2005 but it is Indonesia that will have the greatest increase.

The candidate correctly notes that this will increase government expenditure on health care. Part (c) is
completely correct: the graph is plotted accurately, the inverse relationship is identified and one other factor
affecting population growth rate is correctly given as the birth rate.

Mark awarded = 6 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle

3 (a) Fig.5shows how the total population of the world has changed.

warld population (mifions)
§EE8 583

ﬂ T L) i) *

1600 1700 1800 1900 2000
yoar

Fig. &

Dascribe the changes shown by Fig. 5.
Tme pepu lDbe. of de ooulel L

e D 100 AeDve eoch . 25 Aty coe $24 O3k

Livt vBe o bigh ded clean. rote 4 aude

L.:u.-r w bee werid P *pulabe-. 2]
{b) Flg. & (opposita) shows the percentapge of the population over the age of 80 in six
couniries with largs populations.
(i} Which country shown on Fig, 8:
had the largest percentage of over-80s in 2005; ... TQPH"
will have the greatest increase in percentage of over-60s? .'.:*:!E:..'i'.-! ..... 2

(i) Suggest one problem the changes shown on Fig, 6 will cause for the governments
of the countries,

Tre problesm #shwl O~ scte- ol e

Aovtrrgett U beot ; due D be credse e

Comdis ot hbve Sesugm Felbercet fir e PDeople ]
liel” oo e batooced.
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle, continued

Percentage of the population over the age of 60

i ——— . T

{c) mrmmucmmnmmnthnmm

i
-
grawth
rabe ERAELAE
(%)
L
1 .
o Lo .
1] 20 40 & 20 100
Ele axpectancy (years)
Fig. 7
() USA has a /e axpeciancy of 78 and & population growih rats of 1%. Plat his
information on Fig. 7. I

(i) Describe the relationship, shown on Fig. 7, betwean ks expactancy and growih mbe.
Trg velibe-dhy u -0 35 2 expeckinef et

Lugnes dtee the greosb raw pecewed tow: )

(iil} State one ather lactor, apart from lle expeciancy, which affects population growth rate.
el i
[Total: 8 marks]

Examiner comment — middle

The candidate attempts to give reasons for the changes shown by the graph but does not describe them, as
required by the question. Japan and Indonesia are correctly identified in part (b) but the candidate fails to
give a sufficiently precise problem that the changes will cause for governments. In part (c), the graph is
plotted correctly, the inverse relationship is identified but “infancy” is not a sufficiently clear answer for part

() Gi).

Mark awarded = 4 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low

3 (a) Fig.5 shows how the total population of the world has changed.

world population (millians)
BB B

1600 1700 1800 1900 2000
YBAET
Fig.6
mhwmwl’hﬁ.

X ShoseS A Mnmm_hﬁ ﬂﬂﬂﬂﬂﬂ

._%Imn_f,;.mm___gu_.b:u.__.&.::aﬁ,,_ ________
2
(b) Fig. 6 (opposito) shows the percentage of the pepulation over the age of 60 in six
countries with iarge populations.
(i} Which country shown on Fig. &
had the larmast parsaniage of over-80s In 2005: .. L), L A2V
will have the greatest increase in percentage of over-60s7 ... S\ l_ia.._m

{iiy &unﬂnpmhlunhmmmﬁu.lﬂ“hrthlmm

Eﬁ-m....mnmy e LB s B "

m
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low, continued

Percentage of the population over the age of &0

(e) Fig. 7 shows the curmant papulation grosh rate and (ife expaciancy of the same countrios.

y T
2

grow i

rae

ﬁ} 5]
3 1 1
. S is
0 20 49 60 BD 100

Flg. 7T

l.'i] mm-hmwﬂnm-mmmmmmmm
information an Fig. [1]

(i) Describe the relaionship, shown on Fig. 7, between lile expectancy and growth rate.
._i:. \':.E"\n ........... gﬂj ......... s '&-Q’.__g.&:":"_ge_ﬂibdi_gf

..... EE s N L TuEmm———

(i) State one from e wmnm which eflects popuation growth rate.
________ &Qﬂ. A h 1]
 [Tosat: 8 marks]

Examiner comment — low

In part (a), the candidate scores one mark for noting the population growth but the exponential nature of the
growth is not mentioned. In part (b)(i), the candidate scores one mark for noting that Japan had the largest
percentage of over-60s in 2005 but it is Indonesia that will have the greatest increase not China. In part (b)
(i), the answer “too many people” could refer to the population as a whole and not just the over-60s. In part
(c), the scatter graph has not been plotted correctly and the candidate does not appear to understand the
meaning of the term relationship as used in the question. A third mark has been scored for noting that the
death rate is another factor affecting population growth.

Mark awarded = 3 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Question 4

Mark scheme

4 fa) (i) correctposition of E,
correct position of D,
cormect position of F,

The points of the amows must be within the toleranca. |7 letters without armows are used
then the majority of the letter should be within the tolerance.

If more than one is given and ona is wrong = 0. [3]
(if) sketch of curved channel to rght of existing channeal and parallel or sub-parallal to it,

Allow if just one margin of the river is drawn. If both margins are drawn and one is wrong

=k, [11
(b} boulders,
traction,
Clearshowar,
fastar, [4]
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Example Candidate Responses — Paper 2: Geographical Skills

Mark scheme, continued —

=D

\\\\% \N\N/ _

= s
b —— e T
e O L e T Wy -
‘__,—'—‘M.\\_ e = i
I ki T T RS
"—l‘._]‘—l_‘_‘.——"_‘—-l—“ * II‘ 1 r|‘ll|||—r-
T
s Manng
't._:_

——

Sl
\\\\\}// \N\W/
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high

4 Phoograph A (Insert), shows a river channel and the surmounding area. Fig, 8 shows a
studant's field sketch of the samo area.

Flg.8
(a) (i) On Fig.8, use the comect latter to show the position o
a place in tha channel where erosion occurs (E);
a place in the channel whare deposition occurs (D)
the flood plain (F). &)
(i) On Fig. 8, skeich a likely future position of the channel. [
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high, continued

{b) The studerit iInvestigated the processes of river transport, Thie paragraph below s part | 11 Edu
of the skidshls field noles, P y Educite |

Lising Photograph &, complate the ]II-EFHEI'.EI.FIh |I.lﬂlng four of the following words:
Ly
bouldars
Blower

clear
trachion:

“The material on the river bed (the bed load) can easlly be seen. Thiz material is
mostly bow LdfCl.. The process which transported this malerial s
most ralzlzh?r o have been .TLESHCW  The water in e rver s
........ , B0 | think suspension is nol laking place loday. The malerial
on tha bed of the river does not seem o be being fransporfed downsiream today,
I think it could have bean moved when there was more water n the river and the

water was flowing ,i:--"“':.”""’rﬂ .......... »
4]

[Totat: 8 marks]
Examiner comment — high

The candidate has correctly located erosion and deposition on Fig. 8 but the flood plain is incorrectly shown
within the river channel. The likely future position of the channel is incorrect as it should show the migration
of the meander towards the right of the photograph. The answer to part (b) is completely correct.

Mark awarded = 6 out of 8

36 Cambridge IGCSE® Geography 0460



Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle

4 Pholograph A (Insert), shows a river channel and the surrounding area. Fig. B8 shows a
siudent’s fiald sketch of the same anea.

(8) () OnFig.8, use e comect lstter 1o show the position of:
2 place in the channel where erosion occurs (E);
a place in the channel where deposition occurs (D);
e fiood plain (F). =
Al On Fig. 8, skeich a ikely future position of the channet, [
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle, continued

(b) The studenl investigated the processes of river lransport, The paragraph below is part My Educite
ol the studeni's field notes.

Using Pholograph A, complate the paragraph using four of the lollowing words:

SRR

fraction
“The matesial on the river bed (he bed load) can easily be seen. This material is
sty Md%.....u_.- The process which lransporied this matedal s
most liely to have besn . ATACHON. .. The waler in the river is
Slower | so 1 think suspension s ot taking place today, The material
an the bed of the river does not seem Io be being ransporied downsiream loday.

I think It sould have Bean moved when thare was more waler in the fdver and (ha

water was flowing ,'Fis.l-e!' ............ .

[4)
[Totalk & marks]
Examiner comment — middle
Only the position of the flood plain is correct in part (a)(i). In part (a)(ii), the future position of the channel has
been given the benefit of the doubt and awarded a mark because it is to the right of the existing channel.
Part (b) has been awarded three of the four marks available; the first response should have been boulders

and not muddy.

Mark awarded = 5 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low

4 Pholograph A (Inserl), shows a river channal and the surrounding area. Fig. 8 shows a
studant's eld skelch of the same area.

Fig.8
(8) () ON Fig.s, use the comect lefter 1o show the position of:
& place In the channal where erosion ocours (E);
& place In the channel whare deposition accurs (D
the flood plain (F). {8
i) On Fig. 8, sketch a likely future position of the channal. (1]
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low, continued

{b) The sludent iwesfigated the processas of river Transporl. The paragraph below is part m -
of the student's field notes. m

Lising Photograph &, compleds the paragraph using four of the following words:

muddy
bouidsrs

slower

soiLlion
Taster
sand
claar

fraction

"Thé matarial on the rver bed (tha bed load) can easlly be seen. This maderial is
mestly ... S The process which tansported this material s
most lkely to have besn ...f.0fed@r . The water In the river is
s B e B e , 80 | think suspension lg not taking place today. The material
on e bed of the rver doss not seem to be being transported downstream today,
I think i could have bean moved when there was more water in the river and the

watter was fowing ... dea 880 ... "
[4]
[Total: 8 marks)

Examiner comment — low

Only deposition has been labelled correctly on Fig. 8. The candidate has not attempted to label the future
position of the channel. In part (b) the candidate has been awarded two marks for clear and faster.

Mark awarded = 3 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Question 5

Mark scheme

5 (a) 2,
X

2 porrect = 2
1 correct or reversed = 1 2]

(b} (i} tropical,
(fairly) high temperaturas/hot in summanOctobarMovemberDecamber/JanuaryFebruary!
March/beginning and end of year,
cooliwarmémild in winter AprilMay/JunalJulyiAugust'Seplembear/middie of year, (low
temperatures = )
{temperature increases, decreases, higher, lower etc, = 0)
small'moderate annual temperature range,

low rainfallidry climate,

dasart,

rain in summerany month from September to May/beginning and end of year, (allow if
stated as ‘high’ ranfall)

drydrought in winterJunefdubdAugust'middle of vear, (not fittle rain)

{rainfall increases, decreases, higher, kower etc. = )

Whan the candidate is describing rainfall, do not allow bt months to egual summer or

cold months to equal winter. [4]
(i} high pressure,

descending air,

offshora/NE/E winds,

large distance from seadinland,
stable air,

Ignore the numbers 7 and 2 on the question paper.
{dry air, rainshadow, §tle evaporation, no moist winds = 0) 2]
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high

5 HFHNHMHMHMMHHMFH 10 (below) shows three
locatiang, X, ¥ and 2

an L .—.-_____r

temperature (*C)
=
8

raindall (mm)

Fig. A

‘ﬂ II1II LER 1Y

E . 1 T N i

a0

20 : E

10 S !

g T i

J F M A M & J A E O N.D

month
Fig. 98
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high, continued

{a) Figs 8A and 98 show the climate at iwo of the three locallons shown en Fig.10. For My Educite
each climate, state which is the correct location, either X, ¥ or Z.

Fig oA ... o2
Fig. 88 ....... 2. ZX

(b} (1) Describe the lemperature and raintall shown on Fig. 94. There is no need io use
stafigtics in your answer,

T Diewspy A Joe e Aeoperhes, . degtesses, o0d

o fea Dy o December Yo Aempuees_icoss
. agoine T bk roin dod &5 from Te Ao

_..._m;.:ﬂuﬂ__.du!iu_._ﬂm};_& ___________ .« DO
hh&@%ummmm f=

—aht..._Js...coolesk.... Ao, ... Sghonbec.. b . deambpr...
... cwin...incvases Kby alo with He

B R R e L R e R L R R e e e e e T T TR R

Sl E R

(i} Give two reasons for the low reinfall otel shown on Fig. BB.

1uibsnob clow  ermwh do. M s o gek
JHe. moishes,. foe T@MWJJ_M{I@_-
o b locld . oo bo_ o dopiel . disert) sled

Examiner comment — high

Candidates found this a demanding question and the marks were lower than for other questions. In part (a),
the candidate correctly selects Z for Fig. 9A and X for Fig. 9B, identifying two desert locations, and in the
correct hemispheres. In part (b)(i), two marks have been awarded, one for noting the rainfall in May, and one
for noting the drought in June and July. June’ on the third line is probably a slip and the candidate really
means January. No marks have been awarded for the references to increasing and decreasing temperatures
and rainfall. In part (b)(ii), one mark has been awarded for distance from the sea as a cause of aridity.

Mark awarded = 5 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle

5 Figs 8A and 98 show the climale at two' places in Africa, Fig. 10 (below) shows thres
locations, X, ¥ and Z.

23 v wWw.myed
€ aofiHERS

10 . 1{IJ-E-
50 i‘
0 - aiti » =="==s& 0o E
J F M A M J 4 A 8 O N D
mionth
Fig. 9A
m Ll EA N ::
o =
30
E =
T SLUELL
1od 5 £
g 5

-2

Fig.10
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle, continued —

(8) Figs 94 and 9B show the climale at two of the three localions shown on Fig-10, For | My educitell
aach climale, state which is the correct kacation, either X, ¥ or Z,

(. B | SETEEEESERTE
P98 e L

(B} (i) Describe the temperature and rainfall shown on Fig, BA. Thers is no need o use
lmhli:umh.lrm

B e e L L e e L R R T R e T e P P e e

................... : ke B R S . |

(i} Givotwo reascns for the low rainfall total shovn on Fig. 86,

1 .__..£|r: ...... r;l ..... B Deciect...... 00" meh:. ........ el

Examiner comment — middle

Mid-level candidates found this a demanding question. The answer to part (a) is incorrect. In part (b)(i), three
marks have been awarded for hot in January and December, rainfall in January and December, and no rain in
June, July and August. No valid reasons are given for low rainfall in part (b)(ii).

Mark awarded = 3 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low

5§ Figs 5A and 98 show the dimale at two places in Africa, Fig. 10 (below) shows three

locations, X, ¥ and 2
a0

F

10
1
o Hﬂﬂz
Jd F M A W J J A .8 O H D
rrecinth
Fig. 94
m :'Ill !I:
3 B0 -~ fet
E 1
104 e} = 'ﬁ
it ¥
4 F M A& W J 4 A 8 £ N D
month

. Equator
- &

™ N2
Fig. 10
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low, continued —

{a) Figs 0A and BB show the climate at two of the three locations shown on Fig.10. For My Educite
sach climaie, siate whizh ia the comeact location, either X, ¥ ar Z. ‘

Fig. A v ; — AN ERERRRENTES
& - S A z
(2]
{b) (i} Cescribs the lemperalure snd ralnfall shown on Fg. BA. There is no need to use
slatistics inyour anawear,

[Totalk: B marks)
Examiner comment — low

One mark has been awarded in part (a) because the candidate has selected the two desert locations but
placed them in the wrong hemispheres. In part (b)(i), a mark has been awarded on the first two lines for high
temperatures in January. A mark has been awarded on lines five and six for rainfall in September to
December. No valid reasons are given for low rainfall in part (b)(ii).

Mark awarded = 3 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Question 6

Mark scheme

6 (a) 9.8-10.2 (km), Allow in metres if units stated.

G (minutes),

Allow if candidate rounds answers to nearest minute. Don't insist on acouracy to two dacimal

placas,

(b} Lomy driver

Resident of villaga

Town rasidant

Shop owner

Panager of factory

Environmentalists

2]

save imelquicker,
save fuel,
avoid congestion in town,

shorter, easier = [11

noise,

visual poliufion,

exhaust fumesiair pollution,

lowear housa prices,

potantially dangerous new road, [1]

reduce noisa,

reduce visual poliution,

reduce axhaust fumeas,

make journays quickerfless congastion/lass traffic theraflora easler to
fravel,

increasad road safety, (7]

reduced trade/profits, (7]

route not helping transport/access/no advantagefwould not use it/
travel timas unchangsad,

a westemn by-pass would have been helpful,

(‘road iz on the other side of town' alone = 0) [1]

destruction of woodlandhabitats/countryside/natural land,
disturbs wild life,
poflution = [11

Increaseddecraase in traffic alone = 0 throwghout.
Pollution without type = O threughotl.

8 km 5.4 minutes 5 minutes 24 seconds
9.8 km 5,88 minutes 5 minutes 52 8 saconds
9.9km 5.94 minutes 5 minutes 56 .4 seconds
10.1 km 6.08 minutes & minutes 3.6 seconds
10.2 km 6.12 minutes & minutes 7.2 saconds
11 km 6.8 minutes & minutes 36 seconds
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high

8 Fig. 11 ls amap showing a town and the route of a proposed new road.

Fig. 11
msmnmmwhmﬂht-pmnndm}ud.
Table 5
A main road through the
ﬂhlp'h ovn now road
distance from X 1o ¥ Bl 1 km
average speed of vehides
between X and Y 32 ke hour 100 km/hour
average |ourney time .
between X and Y 16 minuiss .‘-nu‘l}
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — high, continued

{2) Use information in Fig. 11 to complate Tabe 5. [2]

(B} Lising Fig. 11 and Table 5, suggast one reason why each of the following peopla s
ither bor or apainat the propased new rosd,

(I} Long distance lerry drivar = Fore”

(iil) Town resident - For o

(vi} Ervironmental action group = Against X

Feason .@Mﬁn@ .__.-..-ﬁ& ..... .-I"'I?ﬂ'ﬂ'f ..... J«ﬁiﬂ'g _.ﬁ.ﬂm ,,,,,, .-.r.

My Educite

d

AL..... M ........ wisnllad sl . Ko o Hgeed
ol AR ... R R s e e
[Total: & marks]

Examiner comment — high.

Part (a) is completely correct. In part (b), the candidate gives valid reasons for the opinions of all the various

people except the factory manager. (The new road will not make the costs greater.)

Mark awarded = 7 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle

8 Fig. 11 is a map showing a lown and the uis of 8 proposed new foad.

Fig. 1
Tabie S compares the main road through the fown with the proposed new roat.
Tabile 5
distanca from X to Y Bkm -
A EM
average speed of vehicles
bet X and Y 32km/hour 100 krmvhour
EVErage journdy lima
p Xand Y 15 minutes GE o warns
+ - o
‘&_ :%- v

= |
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — middle, continued
{a) Use information in Fig. 11 to complets Table 5. (2]

(b} Using Fig. 11 and Table 5, suggest one reason why esach of the following peonls i
gither for or against the propesed new road,

() Long distance loery driver — Forv”
Reason . Beaguuet e i eo WS redwmo, SYS0AS, Sremi,, 00 ..

......................................... = EPTRRRRTRY \NVROPPRS. . | |
(i) Resident of village — Againsf X
' Reason . Tk Bad. . wouid e Ol e rext I tna ,
~MOG L., 0. ok oo, ersiling. MIMOGE. ol enudse ORE.
e PRAMETEN, oo I -1
{iii) Town resident - Forv”
Aeason “Teiss . tatuld vima, 4o Soodl... o bosmee dvoud 0
LR i DOE G8E. Anbpd L D VRTINS, A

{iv) Owmer of shop in CBD - Against X

{vi} Environmentzl action group — Against X

Flaasan Mmuﬂwﬂmmmﬂnm_
Al ooy

erouse. o ORI R i i
A ) 1
[Testarl: B arkes)
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Example Candidate Responses — Paper 2: Geographical Skills

Examiner comment — middle

il

The candidate has measured the distance (10km) correctly but has been unable to convert this into the
correct journey time. In part (b), correct reasons are given for the first four people’s views: the lorry driver
will travel faster, the village will suffer from noise, the town will have less congestion and the shopkeeper
will lose customers. In part (b)(v), the candidate has crossed out the answer but it does not contain any valid
points. In part (b)(vi), pollution was not accepted as a valid reason and, if it were, the type of pollution should
have been specified.

Mark awarded = 5 out of 8
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Example Candidate Responses — Paper 2: Geographical Skills

Example candidate response — low

8 F’q Hhuupm:.ﬁmmur;nulm_m.

¢ L ¢ $ ? P i

km
Koy
() buitup =~ malnroad — — - proposed
new road
. factony
Fig. 11
Table & compares the main road through the town wilh the proposed new road.
Table §
main raad through tha
S _ new road
distance from X to Y 8km AD lepn
average spead of vehiclos 1
bet X and ¥ 32km/hour 100 kerrutour
jourmey time ’
g 15 minutes A0 s
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Example candidate response — low, continued

(8} Use information in Fig. 17 o complats Table 5.

Example Candidate Responses — Paper 2: Geographical Skills

(b} Using Fig. 11 and Table 5, suggest one reason why eech of the lollowing people i=

githver for or against the propossd new road.
() Long distance borry driver - For o .
Reason . T SREAQ ISR A0y
O T TS T " I Y PR T B i
................................................................ -1
(M) Residant of village — Againat X
Aeason .. Il WOWE B0 SP2A0. M0 SR s
............. LN L. L2, e e
S O A e e AN S s )
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© [Total: 8 marks]
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Example Candidate Responses — Paper 2: Geographical Skills

Examiner comment — low

. _ My Educite
The candidate has measured the distance (10km) correctly but has been unable to conver

this into the correct journey time. The candidate notes that the lorry driver will take less ===

time (part (b)(i)) and that the town resident will face less congestion (part (b)(iii)) but is
unable to give valid reasons for the views of the other people.

Mark awarded = 3 out of 8
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